
4. STATISTIK 
Om ikke-grupperede observationer. 
 

Observationer 37 39 40 41 43 

Hyppighed 1 7 3 4 5 

Frekvens      

 
 
𝑁 =  
 
F.eks. frekvensen af 37 er: 
 
 
 
 
 
Typetal ( 𝑇 ):  
 
 
 
Gennemsnit ( 𝑥̅ ): 
 
𝑥̅ =   

 

KVARTILSÆT 
 
37, 39, 39, 39, 39, 39, 39, 39, 40, 40 
40, 41, 41, 41, 41, 43, 43, 43, 43, 43 
 
 
 
Median ( 𝑀 ): 
 
 
 
 
 
 
𝑄ଵ: 
 
𝑄ଷ: 
 
 
 
Min : 
 
Max : 
 
Kvartilsættet er  
 
Det udvidede kvartilsæt er  
 

BOKSPLOT 
 
 
 
 
 
 
 
 
 
 
 
𝐾𝐵 =  
 
 
 
 
𝑉𝐵 =  
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